
    07-04-21                       MATHEMATICS  ASSIGNMENT 

                                                           CLASS 5 

                                                CHAPTER:- ADDITION 

 

Q1. Arrange in columns and add:- 

a)  25,91,634 ; 41,05,293 and 4,01,58,394 

b)  54,39,724 ; 4,32,01,582 and 3,91,264 

c)  6,09,26,143 ; 29,46,132 and 45,00,263 

d)  4,19,73,219 ; 4,32,15219 and 15,26,293 

e)  5,036 ; 2,51,94,021 ; 16,54,012 and 3,21,943 

f)  6,21,94,351 ; 37,25,001 ; 30,05,109 and 1,50,602 

 

Q2. The income tax department collected ₹8,03,06,754 in the first half 

        year and ₹1,59,85,630 in the second half year as tax. What is the 

        total tax collection for the whole year? 

Q3. The population of city A is 3,23,68,509, the population of city B is  

        5,48,57,329 and the population of city C is 5,30,95,864. What is the 

        total population of the three cities? 

Q4. During the year 2019, the sales receipt of a company was  

       ₹1,58,96,450. In 2020 it increased by ₹48,35,675. Find the sales 

       receipt of the company in the year 2020. 
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